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  5) Write the proper unit of measurement, where necessary. 

  5)   DeeJeM³ekeÀ Demesue lesLes ³eesi³e SkeÀkeÀ efueneJes.
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Written Test - First Round ( uesKeer Hejer#ee - Heefnueer HesÀjer )

Std. VI & VII JesU ë 1 leeme  SketÀCe iegCe ë  50

  3) Cancelled and overwritten answers will not be considered.

Instructions : 1) Each question carries 2 Marks.

  4) Answer should be written in box provided in front of each question.

met®evee ë 1)   He´l³eskeÀ He´Mveeuee 2 iegCe Deensle. 

  3)   Kees[uesueer DeeefCe efiejJeuesueer Gllejs efJe®eejele Iesleueer peeCeej veenerle.

Name of the student :  )1

efJeÐeeL³ee&®es veeJe ë  2)

  2)   Gllejs MeeF&ves efueneJeerle. 

(In Block Letters)

  4)   He´l³eskeÀ He´MveeHeg{s efouesu³ee ®eewkeÀìerle Gllejs efueneJeerle.

Name of the school   :  

ieìe®ee meebkesÀeflekeÀ ke´ÀceebkeÀ      ë  Ye´ceCeOJeveer  ke´ÀceebkeÀ ë 

  2) Answers should be written with Pen.

MeeUs®es veeJe ë    (In Block Letters) :

Code No. of the Group   :   Mobile No.  :  

Time : 1 hour  Maximum Marks : 50 

 (x-2) x  जर  8  = 128,  तर  8  ची  िकमत  िकती  ? ं

1.  If       +        = 3      ,  find the value of x.

  जर      +        = 3       ,  तर  x  ची  िकमत  काढा.ं

 (x-2)x2.  If   8  = 128,  what  is  the  value  of  8

3.  The L.C.M. of two consecutive even numbers is 180.

 तर िदले�या कोनाच ेमाप िकती ? 

 दोन �मवार सम स�याचा ल.सा.िव. 180 आह.े तर �या दोन स�याची बेरीज िलहा.ं ं ं ं

 Find the sum of the numbers.

4.  The ratio of the measures of the complementary angle of a given angle and the 
supplementary angle of the same angle is 2 : 11. Find the measure of the given angle. 

 िदले�या एका कोना�या कोिटकोनाच ेमाप आिण  परक कोनाच ेमाप याच ेगणो�र 2:11 आह.े ू ं ु
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  जर        +       +       =       ,  तर  �या जागी असणारी स�या काढा. ं

6.  If equal number of notes of Rs.5, Rs. 10 and Rs.20 amount to Rs. 1400, 

   जर 5 �. , 10 �. आिण  20 �. या�या समान नोटाची िमळन एकण िकमत 1400 �पये होत असेल ं ं ू ू ं
 तर ��येक �कार�या नोटाची स�या काढा.ं ं

  (x-5) ही एक सम स�या आह,े ित�यानतर �माने येणारी चौथी िवषम स�या कोणती असेल ?ं ं ं

8.  In the given figure, Seg PS and seg QR intersect at point O.
o mÐP + mÐQ+mÐR+mÐS = 290

 Find the measure of ÐPOQ.

o जर mÐP + mÐQ+mÐR+mÐS = 290  तर कोन POQ च ेमाप काढा.

9.  Write the recurring decimal form of       . 

 find the number of notes of each kind.. 

th
7.  (x-5 ) is an even number. What will be the 4  odd number after it ? 

        या स�येच ेआवत� दशाश अपणा�क �प िलहा. ं ं ू

5.  If         +       +       =       ,  find the number in place of  

  िदले�या आकतीत  रेख PS आिण रेख QR,  O िबदत छेदतात. ृ ं ू

2 2 2 23 3 3 313.  Simplify: ( 6x  + 4x y - 3xy   + 6y ) - (5y  - 3xy  + 4x y + 5x  ) 

210.  The perimeter of a square is (4x - 8) cm. 

2 2 2 23 3 3 3 सोप े �प �ा : ( 6x  + 4x y - 3xy   + 6y ) - (5y  - 3xy  + 4x y + 5x  )  

  सोपे �प �ा :          +       ¸        ´  

 Find the area of that square if x = 3. 
2 एका चौरसाची प�रिमती (4x - 8)  सेमी आह.े जर x = 3 असेल तर �या चौरसाच े�े�फळ काढा.  

11.  Simplify :          +       ¸        ´  

12.  The distance between two cities can be covered in 6 hours at the average speed of 
th60km/h. To cover the same distance in       time, what should be the average speed in 

km/h ? 

 दोन शहरामधील अतर पार कर�यास 60 िकमी/तास सरासरी वेगाने 6 तास लागतात. ं ं

 तेच अतर       वेळात पार कर�यासाठी सरासरी िकती िकमी/तास वेग ठेवावा लागेल ? ं
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 एकण िकती झाडे लावली ?ू
 10.8 मी. ठेवले. जर र��या�या स�वाती�या टोकाजवळ तसेच शवेट�या टोकावर झाडे लावली असतील तर ु

 how many tiles will be required ?

18.  A road is 2 km. 700 m. long. If trees are planted on both sides of that road at intervals of 
10.8 m.,  how many trees were planted if there are trees at the starting point and at the end 
point of the road on both sides ?

19.  What is the sum of the measures of all interior angles of a heptagon ?

 If tiles of  25 cm ´ 25cm are to be fitted on the floor of the room, 

 एक र�ता 2  िकमी. 700 मी. लाब आह.े �या र��या�या दो�ही बाजना झाडे लावली. दोन झाडामधील अतर ं ंू ं ं

20.  The length and breadth of a room are 5m. and 3m. respectively. 

 एका खोलीची लाबी 5 मी. व �दी 3 मी. आह.े ं ं
 जर 25 सेमी. ´ 25 सेमी.  मापा�या फरशा �या खोलीत बसव�या. तर फरशाची स�या िकती ?ं ं

 एका स�कोना�या सव � आतर कोना�या मापाची बेरीज िकती असते?  ं ं ं

 Find the mÐA if  mÐABC = 65° 

 mÐBCE = 120° अस�यास mÐA काढा. 

15.  A shopkeeper sold an article of marked price Rs. 3750 for Rs. 3300. 

17.  In the given figure, 

14.  Certain principal amounts to Rs. 5800 after 2years and Rs. 6600 after 4 years 

 Find the percent discount offered by the shopkeeper. 

  एका दकानदाराने 3750 �पये छापील िकमत असलेली व�त  3300 �पयास िवकली. ं ू ंु

 सोपे �प �ा : 3 - [7 × 0.2 ¸ 14 ]  -(-3.1)

 and mÐBCE = 120°

 िदले�या आकतीत, mÐABC = 65°  आिण ृ

 by simple  interest. Find the rate of interest p.c.p.a.

 काही म�लाची सरळ �याजाने 2 वष � मदतीत 5800 �पये व 4 वष � मदतीत 6600 �पये रास होते. ु ु ु

 तर �याने िकती ट�के सट िदली ?ू

 तर �याजाचा द.सा.द.श.े दर काढा. 

16.  Simplify  :  3 - [7 × 0.2 ¸ 14 ]  -(-3.1)
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 षटकोनी सचीला िकती कडा असतात ? ् ू

21.                       
   = ?

22.  16 dozen pencils are purchased at Rs. 50 per dozen . 

 �या चारही शहरामधील एकण ज�म आिण एकण म�य याच ेगणो�र िलहा. ृं ू ू ू ं ु

 16 डझन पेि�सली 50 �पये डझन दराने खरेदी के�या. 

223.  If x = - 2,  y =       and z   = -      , then what is the value of  2x  + y - 3z  ? 

24.  How many edges does a hexagonal pyramid have ?  

25.  The following joint bar graph shows the births and deaths registered in 4 cities during one 
month. Find the ratio of total births and deaths in all four cities.

 

 At what price should each pencil be sold so as to get 20% profit ?

 जर �या िवकन 20% नफा िमळवायचा असेल तर ��येक पेि�सल िकती �पयास िवकावी ?ू ं

2 जर  x = - 2,  y =       आिण  z   = -      ,  तर  2x  + y - 3z  ची  िकमत  िकती  ? ं

 िदलेला जोड �तभालेख 4 शहरामधील ज�म आिण म�यच ेएका मिह�यातील आकडे दशि� वतो. ृं ं ू
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